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Note: l. Answer any FIVE full questions, choosing ONE fult question from each module,

2. Use of Design clata hand book't, 
,allowed.

Module-1
I a. With simple sketches, explain the merits and limitations of

(D Separate and Integral cylinder heads.

(ii) Wet and Dry cylinder liners. ' . (10 Marks)

b. A vertical four stroke.,Girdhgin. has the following-,{'dsifications:
Brake power = a.5 k$hrffieed = 1200 rpm, imep'9.fr=lS N/mm2, Q,"ch = 0.80 .

Determine tfre OirilUtTiions of the cylinder. ."\

OR
2 a. With skeJ:&es, explain any four methods iiied to compensate thermal expansion in pistons.

Nlodule-2
3 a. With a neat sketctr, describe the function; fdrial and construo,b.ion of a connectin8,ii*irru,

b. A reciprocating pump is used to raise the water against a heap of 165 kg, pump diameter is

450 mm and piston rod is 1400 mrn long. Calculate the diameter of the piston rod. Use

Rankrne,cgnstant * = *O , FO$: 10, pressur.,9.p1m piston : l.6l MPa. (10 Marks)

i'r;irt;r; 
"...'i:'l't' o*,:::::: ,,r., - r.:iii::+,::

4 a. ,'bescribe the functions, rrderials and consffidiion of a Crankshaft. (10 Marks)

br',"'i$bsign an overhung Crinkpin for an engine having the following particulars:

";'' ,:Qyl'nder diameter = 300 mm, Stroke * 500 mm, Maximum explosion pressure = 1.8 MPa,

Speed = 200 ryrc Permissible beqdilteg stress for pin = 1000 MPa and
(10 Marks), Permissible,beS,4ing stress = 85.,[4Pa.

(12 Marks)

(10 Marks)
(10 Marks)

Nlodule-3
5 a. Explain with a neat sketih:'dft over head value operating mechanism.

b. Explain with a neat sketoh value timing importance in an engine.

:,.,,,,,,,f,. OR
6 a. With suitable sk'etdIes, explain the working of a two-stroke petrol engine. (10 Marks)

b. With a neat sketCh, explain theoretical scavenging process. (10 Marks)

Maximum gas pressure = 5 I\4Pa, Fuel consu
and Calorific value : 41870kJ/kg.
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Module-4 -":qt-
Write a note on IC engine munifoldsliliifrilut sketchepgffii?rg inlet and exhaust manifolds

for a multi-oylinder engine. ffi 
uq w (12 Marks)

With neat sketches, explain any two types of muffleffid in IC engines. (08 Marks)

fuue
OR &n*,i*,

Cornpare air cooling and water coolihg systemslW .L.* (08 Marks)

nxpUin with a sketih, the functioning of tfu&stat assisted ioolingsEs&rn. (12 Marks)

'W
Enlist and discuss the important Bmp{#ut of a lubricant (any*"five). (10 Marks)

Discuss different types of lubriffiffioil filters commonlylsdd,* (10 Marks)
&-"{h,* '"
fl' oR :

Explain superchargine Xsr$ fliagram of the,rmodyqffic cycle. (10 Marks)

fxplain turbocharg*q$edb stroke engine with4m$# sketch. (10 Marks)
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